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AZHE YIS HAFE
Iprint() LaTeX ge—ﬂ,_‘?_ 2 g3},
version() Sage WA & gk
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BE 7=77 eg. —2 —1 0 1 107100
4 Q=QQ e.g. 1/2 1/1000 314/100
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A w=pi e=e i=i

ARk pin(digits=18)=3.14159265358979324

3! sin cos tan sec csc cot sinh cosh

0 =00 (44 0)

tanh sech c¢sch coth log In exp

ab=axb £=a/b a’=a™b Vz =sqrt(x)

Vo =x"(1/n) lzl=abs(x) log,(x)=log(x,b)
HE Ao eg t,u,v,y,z=var(tuvyz)
Sk Ao eg. flz) =2 f(x)=x"2

or f=lambda x: x"™2 or def f(x): return x" 2

0, g(x,y)==01, x,y)
find_root(f(x), a, b) f(z) =0°] F& zE(a,b] =

.
=

solve([f(x,y)==

f(@)=sum([f(i) for i in [k..nll)

k
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H )=prod([f(i) for i in [k..n]])

ik

factor(...) expand(...) (...).simplify_...
WAl f(x)==g(x)

_ 2 oo EE ATl

_ta _—a _xa _ja A A4S Thth

flz)=g(z) Eo]: solve(f(x)==g(x),x)

<" A £ (Calculus)>

limf (z)=limit(f(x), x=a) o limit(x~5, x=5)

r—a

limf(x)=limit(f(x), x=a, dir='minus')

r—a

limf(x)=limit(f(x), x=a, dir="plus')

Tr—a

A (f (@) =diff(1(x),x)
%(f(xay

diff=differentiate=derivative
[ f(&)dz=integral (f(x),x)

))=diff(f(x,y),x)

integral=integrate
/"f(m)dx=integral(f(x),x,a,b)

alX nxte] Taylor thakal:
taylor(f(x),x,a,n)



2d 19
line([(zy,),....(z,, y,) 1, options)
polygon([(zy,),....(xz,,y,) ], options)
circle((x,y), r, options) ©:circle((3,3),2)
text("txt",(z,y), options)

options 9 A& plot.options oA options T
2t} e.g. thickness=pixel, rgbcolor=(r,g,b),
hue=h 9714 0<rb,g,h <1 °]t}.
figsize=[w,h] options A}-&3dte] 189 71=,
ANZHESE 248 4 9ok

plot(f(x), i, T, OPtions)

parametric plot((f(¢),g(¢)), tins tmax, OPLiONS)
polar plot(f(¢), ¢, tmax» OPEIONS)

Ay 2YPZ FAY RAF7):
circle((1,1),1)+line([(0,0),(2,2)1)
animate(7] 4] A E, options).show(delay=20)

3d 29
line3d([(zy, yy0 21)5eees (2, ¥, 2,,) 1, ODtiONDS)
sphere((z,,2), r, options)
tetrahedron((z,y, z), size, options)
cube((x,y, 2), size, options)
octahedron((z,y, z), size, options)
dodecahedron((z,y, z), size, options)
icosahedron((z,y,2), size, options)

options e.g. aspect_ratio=[1,1,1] color="red'

opacity

plot3d(f(z,y), 2,z 1, Ly,v.1, options)
option plot_points=[m,n]S GE|AY
plot3d_adaptiveE A}&-3tr}.
parametric_plot3d((f(¢), g(¢), h(2)), [t,t.],
options)

parametric_plot3d((f(u,v), g(u,v), h(u,v),
Lupu, ], [v,v,]1, options)

+8 A8l ANES AFW

<ol s>
l z ] =floor(x)
ng k2 Y& YR =n%k kln iff n%k==0

[2] =ceil(x)

n!=factorial(n) ()=binomial(x,m)

¢=golden_ratio  ¢(n)=euler phi(n)

TAE: e.g. s='Hello'="Hello"=""+"He"+'llo'
s[0]="H' s[—-1]='0" s[1:3]='el' s[3:]="l0’
YAE: e.g. [1, 'Hello', x] = [1+[1,

Hello'] +[x]

=A% eg. (1, 'Hello', x) (A 4= 209)
A% eg. {1,2,1,a}=Set([1, 2, 1, 'a'])
(={1,2,a})

List comprehension =~ 3 ¥A WH, e.g.

{f(z):z€X, 2> 0}=Set([{(x) for x in X if
x>0])

<A 384 (Linear algebra)>

(;)=Vect0r([1, 2D

(é i)=matrix([[1, 21, [3, 411)

‘;, i‘:det(matﬁx([[l, 21, [3, 411))

Av=Axy A 1=A"~-1

3 nrows()

A'=A transpose()
ncols() nullity() rank()

trace()...

Sage ZEF 7]

from module_name import * (many preloaded)
e.g. calculus coding combinat crypto functions
games geometry graphs groups logic matrix
numerical plot probability rings sets stats
sage.module name.all.<tab> A Z¥ HHE=
HolFET

E97)A]: Maxima GP/PARI
Shell...

S4A97]A]: Biopython Fricas(Axiom) Gnuplot
Kash...

GAP Singular

%package_name & JH3F3L T 71A] HEH W

g,

time command N3t AEE Ho]Ft)

R

o
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stzeh st 48tz
W34d ek g4
A= m=pi  e=e i=I=i
oo =00=infinity NaN=NaN log(2)=log2

¢=golden_ratio  y=euler_gamma
0.915=catalan  2.685 = khinchin
0.660 = twinprime 0.261 =merten 1.902 = brun
ALk pin(digits=18)=3.14159265358979324
W&e4: sin cos tan sec csc cot sinh

cosh tanh sech c¢sch coth log In exp ..

Symbolic function

TAZ 2dE Fg(HE, v 7He, ete):
f(a, b, theta)=a + b*theta”™ 2

Tk o] ol gk 4 1d:
f=function('f', theta),

2 2E A9
W A

var("t u theta") %=+ var("t,u,theta")

wAS B AREStaL, AgE © F AR S
20"+ /2 =2%x"5 + sqrt(2)

Z3F: show(2#theta™5 + sqrt(2)) — 20°+ /2

t,u v,y, z=var(tuvy z)

3}0]¢&(Python) &4
Ao:
def f(a, b, theta=1):
¢ = a + b¥theta™2
return c
SER
f = lambda a, b, theta = 1: a + bxtheta”™2

A7l f.expand(), f.expand_rational()

73 2

HA: f=gi f==g, f=g [!=g,
f<gif<=g f=g f>=g,
f<g:f<g f>gl>g

f=g E71: solve(f == g, x),

solve([f == 0, g == 0], x, y)
solve([x " 2+y "~ 2==1, (x—-1)"2+y"2==1], %, y)
3f:

S = solve(x " 2+x+1==0, x,
solution_dict=True)

= S[o]["x"]  S[1]["x"] ¢]r}.
Qg & (x7 3+2*x+1).roots(x)
A (x™3+2%x+1).roots(x, ring=RR)
24 8 (x7”3+2#x+1).roots(x, ring=CC)

el plot(sin(1/x),(0, pi/2)) T8 &<
Piecewise([[(0, pi/2), sin(1/x)], [(pi/2, pi),

%:—5} 2 7

grxl

o fE= AR 199 Foln (wekA
gto]& F7) olyh):
©<=3}h: f.simplify_exp(), f.simplify_full(),

f.simplify_log(), f.simplify_radical(),
f.simplify_rational(), f.simplify_trig()

ol (x"3-y"3).factor()

A7, AF) 53

(x™3—y " 3).factor_list()

=3H(Limit)
limf (z)=limit(f(x), x=a)

r—a



limit(sin(x)/x, x=0)
limf(z)=limit(f(x), x=a, dir='plus")

limit(1/x, x=0, dir="plus')
limf(z)=limit(f(x), x=a, dir='"minus")

z—a

limit(1/x, x=0, dir='minus")

=3}
=%
L (f(
% (f(z,y)) =diff(f(x,y),x)

2
T
x))=diff(f(x),x)=f.diff(x)

diff=differentiate=derivative
diff(xxy + sin(x"2) + e™(—x), x)

4%
ff(x)dx=integra1(f(x),x)=f.integrate(x)
integral(x*cos(x ™ 2), x)
/:f(x)dx=integral(f(x),X,a,b)f
integral(x*cos(x "~ 2), x, 0, sqrt(pi))
f:f(x)dx ~ numerical_integral (f(x),a,b)[0]
numerical_integral(x*cos(x”"2),0,1)[0]
assume(...): AEo] oW FAE =ol& wf A&

assume(x>0)

HYg 2 2E 24 37
a°l Al n2ke] Taylor tha2:

taylor(f, x, a, n) =¢,+¢,(z—a)+-+c,(z—a)"
taylor(sqrt(x+1), x, 0, 5)

BH B~
T T

(x"2/(x+1) " 3).partial_fraction()

T8 2 HH3}

S=A18): f.find_root(a, b, x)
(x™2 — 2).find_root(1,2,x)

Hdsk: f(z,) =mel A7 == (m,z,) 27
f.find_maximum_on_interval(a, b, x)

Hask f(z,) =mel A7 e (m,z) 27
f.find_minimum_on_interval(a, b, x)

# A3} minimize(f, A1 2H4)
minimize(x "~ 2+x*y ~3+(1-2z) ~2—-1, [1, 1,

1D

s v AR
a2 A E: f.gradient() ®& f.gradient(¥F)
(x"2+y " 2).gradient([x, y])

gl A<k f.hessian()
(x ™ 2+y " 2).hessian()
okxH] & 4: jacobian(f, ¥5*)

jacobian(x ™2 — 2*x*y, (x,y))

= = 2~
53k 5
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A

&2 :M|H

Sage: o} A E A A7 MaximaZ o] &3
T Utk

s = 'sum (1/n"2,n,1,inf), simpsum'

SR(sage.calculus.calculus.maxima(s)) — 72/6

(The end)



